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5. Prince Sneezealot has 17 blue handkerchiefs.
He has 16 orange handkerchiefs.
What is the total number of handkerchiefs he has?

17 + 16 =

Prince Sneezealot has a total of handkerchiefs.
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6. There were 25 aliens from Planet Zip at the
root-beer stand. There were also 17 aliens
from Planet Zop. How many aliens were at

the root-beer stand altogether?

25+ 17 =

There were aliens at the root-beer stand altogether.
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6. There were 25 aliens from Planet Zip at the
root-beer stand. There were also 17 aliens
from Planet Zop. How many aliens were at
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Zip

Zop

25+ 17 =

There were aliens at the root-beer stand altogether.
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7. At Lollipop Lagoon, 13 divers found 18 A L
rare purple pearls. They found 23 rare

purple pearls at Boppo Bay. How many
rare purple pearls did they find in all?

18 + 23 =

They found rare purple pearls in all.

MSCHOLASTIC

Problem Solved: Bar Model Math (Grade 4) © Scholastic Inc.



8.

Tenacious Tom Tuttle rang his friend Ferdie’s doorbell

58 times. He took a break and then rang it 26 more times
before remembering Ferdie was away on vacation.

How many times did Tom ring the doorbell?

58 + 26 =

Tom rang the doorbell times.

MSCHOLASTIC

Problem Solved: Bar Model Math (Grade 4) © Scholastic Inc.





